ECON 206
Worksheet 2

1. C = 4000 + 0,6Yd,  I = $500, G = $700, T= $1000, X = $500, M = $400
a. What is the saving function?
b. Show the relationship between consumption and saving functions by drawing related figures.
c. What is the AD function? Draw the AD function.
d. What is the equilibrium level of income? Show this on the related figure.
e. What is the multiplier?    							                    

2.  C = $ 1000 + 0.5Yd, I =$ 250, G = $ 450, X = $ 300, M = $ 200, T= 0.2 Y, TR = 1000 
a. What is the saving function? Draw the figures of consumption and saving functions.
b. What is the AD function? Draw the figure of AD function.
c. What is the equilibrium real GDP (Yeq)?
d. What is the multiplier?               

3.  C = $ 3600 + 0.4 Yd  ,  I =$ 200, G = $ 500, X = $ 100, M= $200, T= 0
Suppose that G increases by $100 and this increase is funded by taxes of $100. What is the effect of this changing on equilibrium income? Show it.      
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4. C = 400 + 0,5Yd, I = 400,  G = 400,  XN = 2000 - 0,4Y, T = 500
Suppose that government spending decreases by $200 and this decrease is lead to fall in taxes of $200. Find the new equilibrium level of income and the change in income.                          
5.    C = $ 1200 + 0.85 Y, I =$ 250, G = $ 450, NX = $ 300 – 0.05 Y
a. AD=?
b. Yeq =?
c. Spending multiplier=?

6.    C = $ 200 + 0.5 Yd,  I =$ 200, G = $ 600, X = $ 100, M= 0.1 Y, T= 0,2 Y
a. What is the saving function? Draw the figures of consumption and saving functions.
b. What is the net export function? Draw this figure.
c. What is the AD function? Draw the figure of AD function. 
d. What is the equilibrium real GDP (Yeq)?, What is the multiplier?

7. C = 8000 + 0,6Yd,  I = $700, G = $600, T= $200, NX = $900, TR =1000 
a. What is the equilibrium level of income? Show this on the related figure.
b. What is the multiplier?  

8.  C = 200 + 0,4Yd,  I = $500, G = $400, T= $1000, NX = 0, TR =2000
Solve this problem by using leakages-injections method. Draw the related figure.

9. TA = 0.4Y,  G= 300,  TR = 200, Y = 1500
If the tax rate is raised from 0.4 to 0.6, what is the change in budget surplus?  			
10.  Assume you have the following model of the expenditure sector:
    	AD  = C + I + G + NX         C = Co + cYD       YD = Y - TA + TR       TA  = TAo 
         		TR  = TRo                             I = Io                           G = Go                          NX = NXo 

  a.	If a change in income by ∆Y = - 800 leads to a change in savings by ∆S = - 160, what is the size of the expenditure multiplier?
  b.	If a change in taxes by ∆TA = - 400 leads to a change in income by ∆Y = + 1,200, how large is the marginal propensity to save?
  c.	If a change in exports by NX = - 200 is accompanied by a change in consumption by ∆C = - 800, what is the size of the expenditure multiplier?
11.  Assume the following model of the expenditure sector:
      		AD   = C + I + G + NX         C  = 420 + (4/5)YD      YD = Y - TA + TR        TA   = (1/6)Y 
		TRo = 100                             Io  = 160                         Go = 180                       NXo  = - 40

a. 	If the government would like to increase the equilibrium level of output (Y) to the full-employment level Y* = 2,700, by how much should government purchases (G) be changed?
b. 	Assume we want to reach Y* = 2,700 by changing government transfer payments (TR) instead. By how much should TR be changed?
c.  	Assume you increase both government purchases (G) and taxes (TA) by the same lump sum of G = TAo = + 300. Would this sufficient to reach the full-employment level of output at Y* = 2,700? Why or why not?
d. 	Briefly explain in words how a decrease in the marginal propensity to save would affect the size of the expenditure multiplier.

12. 	Assume you have the following model of the expenditure sector:
      	AD  = C + I + G + NX        C   = 400 + (0.8)YD 	   Io   = 200           G    = 300 + (0.1)(Y* - Y)   
      	YD = Y - TA + TR          NXo  = - 40                   TA  = (0.25)Y   TRo = 50
a.	What is the size of the output gap if potential output is at Y* = 3,000?
b.	By how much would investment (Io) have to change to reach equilibrium at Y* = 3,000, and how does this change affect the budget surplus? 
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